DESCRIPTION: 1P67 PANEL MOUNTING KIT

TYPE "A" KIT (BAG) INCLUDES:

2 - 4-40 UNC-2B MOUNTING SCREWS
2 - TEFLON FLAT WASHERS

2 - 4-40 FLAT WASHERS

2 - 4-40 LOCK WASHERS

2-4-40 NUTS

TYPE "B" KIT (BAG) INCLUDES:

2 - 4-40 UNC-2B MOUNTING SCREWS
2 - TEFLON FLAT WASHERS

[ |

e o

—OUOUoounn

NOTE: TEFLON WASHER
OD IS 0.248 + 0.006

4-40 TEFLON FLAT WASHER
(0.030 - 0.050 THICK PANEL

~=—— PANEL

=——o |P-67 SEAL

KIT TYPE| PART NUMBER
A 160-067-010R033
B | 160-067-020R033 0.187
C 160-067-010RB33 4-40 UNC-2B
NOTE.:
MAX. TORQUE = 2.5 in.lb. 0312
*
IP-67 SEAL
PURCHASED
SEPARATELY

TYPE "C" KIT INCLUDES: 500 SETS MOQ

1 - BAG OF 1000 - 4-40 UNC-2B MOUNTING SCREWS

1 - BAG OF 1000 - TEFLON FLAT WASHERS
1 - BAG OF 1000 - 4-40 FLAT WASHERS

1 - BAG OF 1000 - 4-40 LOCK WASHERS

1 - BAG OF 1000 - 4-40 NUTS

TYPE "D" KIT INCLUDES: 5600 SETS MOQ

1- BAG OF 1000 - 4-40 UNC-2B MOUNTING SCREWS

1 - BAG OF 1000 - TEFLON FLAT WASHERS

% NOTE: PLACEMENT OF TEFLON WASHER

IS BASED ON PANEL THICKNESS

RS CGOMIPLIANTT

= CONNECTOR SHELL

[l

4-40 TEFLON FLAT WASHER
(0.055+ THICK PANEL

== 4-40 FLAT WASHER

[/ |=~— 4-40 LOCKWASHER

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE: 01-15-10
THE PROPERTY OF NorComp AND SHALL NOT C. SMITH -1o-
BE REPRODUCED, COPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OF SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
Inn N.T.S. 1 1 4

160-067-0YORO033




